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Steps to make a box and whisker plot with the TI 83 calculator.
1. Turn on the Stat Plot.  Press [2nd] [Stat Plot].  Press 'Enter'.  Press 'Enter' again to turn Plot 1 on.
2. Select a Box Plot icon.  The first one will show outliers.  The second icon will not show the outliers.
3. Enter Data in L1 of [Stat]
4. View Box Plot by going to [ZOOM] 'Stat' (#9). Or use the arrow keys to scroll down to number 9.  Press 'Enter'.
5. Press [Trace] and the arrow keys to view the values of the Min, Q1, Median, Q3, and Max.
6. Go to the [2nd] [Stat]. In Plot1, use the arrow keys to the 2nd Box Plot.  Press 'Enter'.  This plot will not show the outliers.


Answering questions based on the box and whisker plot
⎕ When asked about the center of the data – look to the median, which is found in the middle of the box and whisker plot
[image: ]				The median is 34
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⎕ When asked about the spread of the data – think about range, which is the smallest number subtracted from the maximum number 
[image: ]		The spread of this data is 55 – 20 = 35
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⎕ Determine the shape of the box and whisker plot
      [image: Image result for shape of box and whisker plot]
⎕ When you are asked about the data, write a true statement about the data. For Example, the lowest temperature is 20˚ or the median is 35 ˚
[bookmark: _GoBack][image: ]
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Descriptive Statistics for a List of Numbers

Quiz scores in a (fictitious) class were 10.5,13.5, 8, 12, 11.3,9,9.5, 5, 15, 2.5, 10.5, 7, 11.5, 10,
and 10.5.1t's hard to get much of a sense of the class by just staring at the numbers, but you
can easily compute the common measures of center and spread by using your TI-83 or TI-84.

Step 1: Enter the numbers in L1.

By the way, this note uses list L1, but you can actually use any list youlike, as long as you enter
the actual list name in the 1-Ver Stats command in Step 2. (It doesn't matter whether there are
‘numbers in any other list)

Enter the data points. [s7ar] [2] selects the list~ [Ty = ERE]
edit screen. TE
10E
Cursor onto the label L1 ;3'5
at top of first column,
then [cLear] [enTer] o
erases the list. Enter the [L1116) =

xvalues.

Step 2: Compute the statistics.
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Step 2: Compute the statistics. z
Select the 1-var Stats command. [s7a7] [] [2] pastes the command to the home screen.

Specify which statistics list contains  Assuming you used L1, enter [z  makes L1].
the data set. Show your work:

write down 1-VerStats and thelist  Press [enTeR] to execute  [[—Ump SLALe
name. the command. = Z

The important statistics are

« samplesizen =15
Always check this first to guard against leaving out numbers or entering numbers
twice.

* meanX =972
(Use symbol i this is a population mean.)

* standard deviations =3.17
Since this data setis a sample, use S, or's for the standard deviation. When the data
set s the whole population, use o, or o for the standard deviation.
Ifrounding is necessary, remember that we round mean and standard deviation
to one decimal place more than the data.

* variance is not shown on this screen; see Step 3 below.

The down arrow on the screentells v 5 times] forthe five- W —iTom €5 o= 1 e
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The down arrow on the screenttells  [v 5 times] for the five- 1 Uar Siats
you that there’s more informationif number summary.

you scroll down — in this case it’s m1n>< 2.5
the five-number summary. Ne prici 1855
maxX 13

You can tell the shape of the distribution. Since the mean X = 9.72 is just a hair less than the.
‘median Med or X = 10.5, you know that the distribution is slightly skewed left.

‘The range is max-min = 15-2.5 = 12.5.

The interquartile range or IQR is Q3-Q1 = 11.5-8 = 3.5. Recall that we use L5xIQR to
classify outliers: we call a data point an outlier if it's at least that far below Q1 or above Q3.

Inthis case 1.5xIQR = 1.5x3.5 = 5.25, Q1-5.25 = 2.75, and Q3+5.25 = 16.75, 50 we can say
that any data points below 2.75 or above 16.75 are outliers. (Making a box-whisker plot is
easier: see MATH200A Program part2.)

Step 3: Find the variance.

Your TI-83 or TI-84 doesn't find the variance for you automatically, but since the standard
deviation s the square root of the variance, you can find the variance by squaring the
standard deviation.

It would be wrong to compute s? = 3.17%
conld antar 2 1657578272 bt that's tad

-no for the reason. You

0,05 — see the BigNo-no
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